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zapal length sepal width petal length petal width species
3.5 ] 0.2 setosa

49 3 1.4 0.2 setosa
3.2 1.3 (.2 setosa

4.6 3.1 1.5 0.2 setosa

0.4 setosa

4.6 3.4 1.4 0.3 setosa

34 1.5 0.2 setosa

2.9 1.4 0.2 setosa
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def create_model():
return m = tf.keras.models.Sequential(]
tf.keras.layers.Dense(units=20, input_dim=4, activation="relu'),
tf.keras.layers.Dropout(0.1),
tf.keras.layers.Dense(units=3, activation='softmax"')
1) 2 EHO—1—0O>%%4 3
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EPOGHS=50“////////

history = m. fit(x=x_train,

y=y train,
epochs=EPOCHS,

a7 —5 DIsTE

validation_data=(x_test, y_test),
cal Ibacks=[tensorboard cal |back],

verbose=2)
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Epoch 1/50
3/3 = 1s - loss: 1.2824 - accuracy: 0.3200 - val_loss: 0.9192 - val_accuracy: 0.3333 - 512ms/epoch - 171ms/ste
Epoch 2/50
3/3 - 0s — loss: 0.9241 — accuracy: 0.4933 — val_loss: 0.8683 - val_accuracy: 0.4267 - 64ms/epoch - 21ms/step
Epoch 3/50
3/3 = 0s - loss: 0.8657 — accuracy: 0.4933 - val_loss: 0.7255 - val_accuracy: 0.5733 - 51ms/epoch - 17ms/step
Epoch 4/50
3/3 - 0s - loss: 0.6919 — accuracy: 0.5333 - val_loss: 0.6656 - val_accuracy: 0.6400 - 68ms/epoch - 23ms/step
Epoch 5/50
3/3 - 0s - loss: 0.5817 - accuracy: 0.7200 - val_loss: 0.5993 - val_accuracy: 0.6400 - 66ms/epoch - 22ms/step
Epoch 6/50
3/3 = 0s - loss: 0.5564 - accuracy: 0.6667 - val_loss: 0.5601 - val_accuracy: 0.6400 - 68ms/epoch - 23ms/step
Epoch 7/50
3/3 = 0s - loss: 0.5005 - accuracy: 0.6933 - val_loss: 0.5351 - val_accuracy: 0.6400 - 48ms/epoch - 16ms/step
Epoch 8/50
3/3 - 0s — loss: 0.4719 — accuracy: 0.7333 — val_loss: 0.5089 - val_accuracy: 0.8667 — 65ms/epoch - 22ms/step
Epoch 9/50

3/3 - 0s - loss: 0.4782 - accuracy: 0.8267 — val_loss: 0.4873 - val_accuracy: 0.9200 - 5ims/epoch - 17ms/step
Epoch 10/50
3/3 = 0s - loss: 0.4544 - accuracy: 0.8267 - val_loss: 0.4701 = val_accuracy: 0.7067 - 66ms/epoch - 22ms/step
Epoch 11/50
3/3 - 0s — loss: 0.3987 — accuracy: 0.8133 — val_loss: 0.4647 - val_accuracy: 0.6533 - 67ms/epoch - 22ms/step
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